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1. A 2 uF capacitor is charged by con-

necting it across a 100 volt DC supply.
The supply is then disconnected and
another 1 uF uncharged capacitor is
connected across this capacitor. If there
is no leakage; which of the following
gives the Correct voltage across the
plates of each of the capacitors ?

100

(a) — volts
3.

® 299 yols
2

() ..2__22 volts

(d) 100 volts

@ O |

In the case of above circuit,: which one
of the following statements is correct ?:

(@) It can be analysed by minimumn one

loop equation

(b) Itcanbe analysed by mlmmum two
. loop equations

- {¢) It can be analysed by minimum

three loop equations

(d) It cannot be analysed by loop

" method
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oy}

3. A circuit consists of several resistors,

one independent voltage source: and one
independent current -source only. If the

- powers consumed in one of the resistors

R are W, and W,, when the voltage source
and the current source are acting
independently, what is the minimum
power consumed by R when both the
sources are acting simultaneously ?

(a) W+ Ww,

) W-W,
@ /-

@ (W -w)

D | c i-::

In the circuit shown in the above figure,
the initial voltage on the capacitor,
V(0) = 1, before I is connected at 1 =0.
If C=2F and I = 2A fort > 0, then what
are the values of the voltage (in- volts)
and charge (in coulomb) on the capacitor
att=3. :

(a) 2,4

(b) 4,2

(c) -8, 4

(d) 4,8
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=
w1
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f1a
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The network shown in the above figure
is in steady state with the switch closed.
At r=0 the switch is opened. Which of
the following gives the voltage across

= 0% respec-
tively ?

(a) 0 and 4 V/s

() O0and 1 V/s

(¢) 2V and 2 V/s
. {d) 0and 2 V/s

6. R, L and C are connected in series in the -

order RLC. If the voltage across R and L
together is 20 V, voltage across L and C
together is 9 V and total voltage is 15V,
then what is the voltage across € ?

@ 7V
®) 12V
() 16V , '
@ 21 \Y

7. In a symmetrical three- -phase system
phase sequence RYB, a capacitive react-
-ance 10 ohm is across YB and a coil
R + jX across RY. When 1, =0, which of
the following gives the values of
R and X in ohms respectively ?

(@ 10,10
(b) 1043, 10
©) 543, 5
(@ 5,543
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The A B C D parameters of a 2 port
network are defined by the equations :

Vi = AV, - BI,
I] = CVZ - DIZ

where (V;, 1) and (V,, I,) refer to the
voltage and currents at the two ports of
the network. For the network shown in
the above figure, which of the following

ives th tri‘?AB
gives gma x 7 c pl

'() 10
2 omJ

1 10
® [, 1}
[10 of

cI010
()10

o
il
|—..__|

- Two signals have same frequency

Spectrum but different phase functions.
Their power densny spectrums will be

| (a) Differing in phase

(b) Differing by "%
(c) Differing by W

(d) Identical
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10. What type of system the difference

equation y(n) = x(n) + x(n — 2) — 2 repre-
sents ?

(a) Linear time-invariant system

(b) Linear time-varying system

(c) Non-linear time-invariant system
(d) Non-linear time;varying system

11. What .is the average value of the

waveform x(f) = 4 cos 4¢ —~'5 sin 5¢ 7
(a) 0

® 2

3|0

(c)

(d)

a8

- 12. Which one of the following statements
is correct ?

A discrete LTI system is non-causal
if its impulse response is

(@) a"u(n-2)
(b) a"_zu(n)
© a™u(n)
(d) a"u(n+2)
13. u(r) denotes the unit step function, i.e.,
u@y=1forr=0

' u(t)=_0f0r1<0

What does the convolution of :u(t) with
itself result in ?

@ 2uln

) [u@]
(c) (+Duln
(d) ()
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14. What is the impulse response h(n) of the

15.

16.

first order difference equation given by,
¥(n) - O-Qy(n -D=x(n)"?

(@ h(n)=(-09)"u(n)

®)  h(n) = (0-9)" u(n)

@ h{n)=-40)

(0-9)" | .

For a signal x(¢) the Laplace transform

is, x(s)= ds+7 » then what is the initial
s(s+3) .

value x(0%) of the signal x(z) ?

(a 7/3

(b) 4

) 0

d) «

An‘ input x(#) = Au(t) (where A is a con- -

stant) is applied to, a -system whose

transfer function is

(S) =

s(s+b)+a

Then what will be the ﬁnal value of the
output y(¢) ?

(a) A/b
(b) 1
) A

(d) Ala




10. A THEEET y(n) = x(n) + x(n—2) 2

1.
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13.
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17. . : 20.

x () —H; » —H,
1§ Rl HH e j
‘ With reference to the signal flow graph'
| What is the fundamental frequency of shown above, which one of the
| the discrete-time square wave, as shown - - following will be the overall transfer
in the above figure ? : function ? . .
| (a) =z radian- : o .
‘ C
_ S () E =0
() % radian ' : '
- C G+
T by ===
(©) T radian R i+H,
| (d) - 0 radian © C- G
- . R (1+H)1+H,)
| 18. When a continuous-time signal x(7) is
- sampled, what« will be the sampled C e

mgnal ? @D —=——

. - R 1+H+H,
(a) It is a product of x(1) and an .o ' :
impulse train

(b) i: l]s]:] product of x(#) and a unit step 21. RS - 5 c()
£ | ' —@ "] (5-1) (s42) - >
(c) It is a product of x(r) and a ramp o "
signal - ' : :
(d) It is a product of x(r) and a unit ' Which one of the following statements
" pulse train _ is correct for the system represented
: ' by the block diagram shown in the
19. For a tachometer, 9 () is the rotor dis- above figure ?
* placement, e(f) is the output voltage and o : ,
K, is the tachometer constant. Which of | (a) OP"_“ loop is stable but closed loop
.. the following represcnts its transfer unstable
9 :
function (b) Open loop and closed loop both are
(@ K,-s* | : " unstable .
®) K | ' (c) Open loop and closed loop both are
s . : - stable
© K-s (d) Open loop is unstable but closed
(d) K loop stable :

P-DTQ-J-FFO - A | 8
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22.

R(s) ' K
) % s{s+1)

C _(s)

For the system [shoivn in the above
figure which one of the following gives

- the correct range of values of X so that

R(s) % '

the steady state error for an input - . -

() = 0-2¢ is less than 0-004 7 -

(a) 0< K <50

(b) K>50

(©) 0<K<40

{d) K>10
_16 ] €O
s(s+4) -

i

Consider the following statements, with
respect to the .unity feedback system
shown in the above figure :

1. The characteristic equation is
P+ 45+ 16=0.
2. The loop transfer function
16 &
s(s+4)

3. The natural frequency of oscilla-
tion is 4 rad/sec.

4,
5.

Damping ratio is 0-2.

The steady state error to unit ramp
input is 0-25.

L e

Which of the statements given above

are correct ?

1, 2 and 3 only
1, 2,3 and 5 only
1, 2, 3 and 4 only
1,2,3,4and 5

(a)
(b)
()
G

P-DTQ-J-FFO -~ A
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10

.

. ()

s-plane

-5 -4 -3 -2/

The figure shown above represents root
locus of a unity feedback control system.

. ~7 -6

" Which one of the following is the correct
. open loop transfer* function of the

system ?
K(s+5)
(s+1)(s+2)
K(s+1)
(s+2)(s+5)
K
s(s+1)(s +5)
K(s+2)
@ Trierd

(a)

(c)

- 40 db/dec .

~20 db/dec

-
—40 db/dec

Which one of the following gives the

10

_ transfer function of the minimum phase

system whose Bode plot is shown in
the above figure ?

, 25(1+0:55)

@ s2(1+0-15)

- 5(1+0-55)
®) 52 (1+0:1s)
25(1+0-15)
s(1+0-1s) -
25(1 + 25)
s*(1+10s)

(©

@




22,

23.

R(s) : - ‘16
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25.

(c)

fw
S-del 4.‘] .

AT @:
famar @ R o www g fie
frra=or &= & we forg e = Frefia e
2| Prafafaa & & a9 o, @ @ @dt
AT 91T 3TN e & 7

K(s+5) '

(s+1){s+2) |
__K(s+l)
(s+2)(s+5)
K
s(s+ 1)(s+5)

K(s+2)

@ GinGE+9)

(a)

(b)

(<)

—40 db/dec
Ib —~20 db/dec
L
1 ~
2 5 10 O —>»
- =40 db/dec
AT FAT T H dIS A FIC & =

ﬁﬁamw%lﬁmﬁﬁaﬁﬁaﬁ?t{m,_
THET AT FoAT & 7
25(1+0-5s)

(a) s2(1+0-ls)

- 5(1+0-5s) .
7S (1+01s)
25(1+0-15)
- s(1+0-1s)

25(1 + 25)

d ‘
@ s2(1+10s)
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26.

27.

Which one of the following is cotrect ?

Within a conductor carrying a current ‘7’
with a constant current density across its
cross-section, the magnetic field strength
‘H’ at any distance ‘r’ from the centre
of the conductor (radius of the conductor
is ‘R’) is given by

_ Ir
" (22R)

Ir
® H- (2::R2)
-
(27:R3)

Ir
(27:R4)

Which one of the following is correct ?

(a)

(c) H=

(d) H=

Given the field E=(—1—26-JE, in spheri-
r

cal coordinates, the potential of point

A('Z, T, %J with respect to point

'B(4,0, 1) is
@) 4V

(b) -4V
) -3V
@ 3V

Match List I with List II and select the
correct answer using the code given

"below the Lists :

List I List I
(Quantity) (Expression)
- —
A. Power flow density 1. ExH
..._)
) E
B. Impedance of media 2. —
- = *
C. Joule heating 3. EH
AR E
D. Velocity of light 4. 3

P-DTQ-J-FFO - A

Code
A B C D
@@ t 2 3 4
(b)y 4 2 3 1
© 1 3 2 4
(d 4 3 2 1

2. 1f H- a, Hy ~ ay H, represents the

H-field in a transverse plane of an em
wave travelling in the Z-direction, then

what is the E -field in the wave ?

@ Z| @ H, - aH,

. ]

®) Zo| @ H, + ayH,

L .- .

. -

d) Z, —E)xHyf?z)nyj

-

. For a material with conductivity o = 1072

s/m and ¢ = 3E,, at what frequencies the
conduction current density will be equal
to displacement current density ?

i
L oy
@ o Mz

b) 60 MH;
{(c) 6.0 MHz

(d -é—MHz "
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'27.

@ H=

T AT (ﬁ'ﬂ?ﬁﬁw ‘R’ R) & o
gTQ P Wek §HTT 9T 9 o 86T AT
If=3T & AR IR 58 W & | AEF & hx
F fodt g qri;caﬁuér:rﬁaﬁam
‘H' w%?

(a) H=

(by H=

(c) H=

Wh%mﬁwE(f}@y

S %«? A(Z,E,%) T ﬁ‘ﬂa ﬁl@'

B (@, 0, n)%aﬁaw%?

.(a) 4V -
) -4V
¢y -3V
d 3V
.'qﬁlﬁ@nﬁg&%a-ﬁﬁrqaﬁt
ﬁ@%ﬁmwmﬁmwmeT
Gl ' -
(wram) (sarer)
A. wRF v9TE T 1. BExH
B. "veaw i gfaamen 2.—2—
H
C. [ oI 3. EH
D. g F i 4.%

13

- 29,

30.

aft H=3a,H, - a,H, 5 7 &
ZfeuT W GOt UF e OGT & H-8F &
forefirg e &, AR E @A & ?

(mZ{%%—%m

®) Zo| axH, + avH,

\

©) Zo| -axH, - aH,

= -

) Zo| ~axH, + ayH,

e vl Y T ¢ =102 s/m 3R
e=3E, & fFg smafq o 9= am
e, faerms o ava % S g ?

—-—MH
(a) %0 z

(b) 60 MHz
{c) 6-0MH:z

1
— MHz
(d) ” z
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33.

32

Which one of the foilowmg statéments
is correct ?

The condmon which does not guarantee
distortion less transmission is

(a) at low frequencies, R>>mL and
G>>wC

(b) at high frequencics, R<<wL and
Ge<aC

GL
(©) C-?
@ R=G=0

By which one of the following modes

the rectangular cavity resonator cannot

be excited ?
(a) TE,,;
) TE,y,
€ TMy
) TE,

What is the type of wave impedance
of a waveguide operating in TM mode at

frequencies below cut off frequencies ?

(a) Complex
(b) Purely reactive (capax:iti\«;c)-
(c) Purely reactive (inductive)

(d) Purely resistive

If the radiation electric field at the

point {r, 6, ¢) due to a short dipole -

antenna located at the origin is E, then
what would be the field at the pomt

(2r, 6, ¢) ?

P-DTQ-J-FFO - A
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35.

@

oo | tny

(@)

&ty

0o f by

(c)
E
1

-

Whtch one of the followmg statements

_ is correct ?

For an intrinsic semiconductor, the
conductivity at any given temperature

. {except at absolute’ zero) is

(@) Zero

(b) Depends upoﬁ the Fermi level

(¢) Mainly due to the electrons

(&) Due to both electrons and holes

36.

Which one of the foliowing statements

1is correct ?

Hall éffect occurs when

(a) a longitudinal magnetic field is
applied to a conductor carrying
current .

(b) a ftransverse magnetic field is
applied to a conductor carrying
current '

© (¢) a transverse electric field is applied

to a conductor carrying current

(d) a temperature gradient exists across
a conductor carrying a current




31. ﬁﬁz’ﬁm%%&aﬁwgﬁﬁfa

| ROEY Tl AT B 7 |
(@) = sl |, R>>oeLl 3K

G>>wC

(b) = IEfeRY W, R<<wl ¥R
Ge<wC

. _GL
(c) C= 7

d) R=G=0 .

. ﬁwﬁﬁﬁﬁﬁ%&rﬁmﬁmﬁw
g%mws%ﬁaa@%mmm
g7 _

(@ TEy),

é)TEmI

© TM,,

(@ TE,,

. Tv Fre ¥ sfere mafir & o gt )
Wﬁamm#wﬁwﬁa
mah%?

(a) diErT

(b) L& gferemet (aia)

() e g (3orF)
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37. Which of the following statements are
correct for a super conductor ?

1. A super conductor is a perfect
diamagnet.

| 2. A super conductor becomes a
| : _ normal metal when an electric field
| is applied.

-

3. A super conductor expels magnetic

I flux from within its volume. .

Select the correct answer using‘;he
code given below:

(@) 1,2 and 3
(b) 1 and 2 only
| ‘ (c) 2 and 3 only

(d) 1 and 3 only

38. Consider the following statements :

A dielectric material has .both elec-

tronic as well as ionic polarizations. If

the frequency of the alternating electric
field 1s increased, then

1. ionic polarization will increase over |

electronic polarization.

2. electronic polarization will increase

over ionic polarization.

3. ionic and electronic polarizations
] are respectively, due to relative
displacement of :

(i) positively and negatively
. "~ charged-atoms. '
()] eleétron cloud wrt the

nucleus.

P-DTQ-J-FFO - A

- Select the correct answer uSing the

code given below :

(a) B only

" (b) 2only

39.

40.

(¢) 2and 3.
(d 1and3
Which of the four contributions to the

total polarization has a large dependence
upon temperature ?

(a) Ionic

(b) Electronic

'(c) Orientational |

(d) Surface charge

Which one of the following statements

1s correct ?

The energy stored in a dielectric mediu
depends upon : B

(a) the scalar product of polarization -
and applied electric field

(b) the scalar product of polarization
" and local (or internal) electric field

(c) the product of the space charge
density of the dielectric medium
and the applied field

(d) the vector product of polarization
-and applied electric field
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41. Which one of the following statements
is correct 7

Upon alloying, electrical resistivity of

- iron increases by a factor of four. In
comparison to pure iron eddy current
losses in the alloy

(a) increase by a factor of two
(b) increase by a factor of four
(c) decrease by a factor of four
(d) decrease by a factor of two

Which one of the following statements
is correct ?

42,

‘The oxidant is taken-in from the gas
stream by existing oxide layer by a
process of :

(a) diffusion
(b) bombardment
(c) absorption
{d) adsorption

"43. The presence of which impurity material

increases the oxide etch rate several
fold 7

(a) Boron
(b) Phosphorus
(c) Cadmijum
(d) Sulphur

*

18 correct ?

In “ion implementation” annealing is
done to bring implanted ions to

(a) Interstitial sites in the lattice

(b) Substitutional sites in the lattice
(c} Top of the substrate o
(d) Bottom of the substrate

P-DTQ-J-FFO - A

Which one of the following statements.
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45.

Which one of the followmg statements
is correct ?

A CVD reactor has two principal
purposes —one is to provide a uniform
supply of gaseous reactants to the
substrate surface; the other is to

(a) provide energy to supply the
_ activation energy
(b) absorb energy from the substrate
‘'surface . 1
{c) remove reactants from the surface
(d) purify the surface

Which is the most commonly used

. passivation layer ?

47.

(a) Metallic layer
(b) Oxide layer
(c) Nitride layer
(d) Organici layer

R
Va
D,
I R D2
— I~
¥ ] 1T

- - 4

Which one of the following statements
is correct ?

In the rectifier circuit as shown in the
above figure when v, (1) = 0,

(a) Dy conducts’and D, does not
() D, conducts anci D, does not
(c) both D, and D, conduct

l(d)' both D; and D, do not conduct
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49,

Which one of the following relation |

is correct ?

The logic operation performed by the
BIT circuit is as shown in the above
figure is given by

@ fo=A+B+CiD

(b) fo=A+B+C+D

(¢) fo=AB+CD

@ fo=AB+CD

A Darlington pair consists of two
cascaded emitter followers wherein the
second transistor constitutes the emitter

.load for the first. Which one of the

following statements is not correct in
respect of the circuit ?

(a) It has very high input impedance

(b) Gain is /32, where f is the current
gain of the individual transistor

P-DTQ-J-FFO - A
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50.

Voltage gain is less than one since
each transistor is connected in the
emitter follower configuration

(c)

(d)

Overall leakage current is very low

For a BIT the biasing circuit should be
designed so that it is stable (with very
litle change in dc operating condition)
when the following change with varia-
tion in temperature :

L Iep
20 VBE
3. h,

Here, with respect to which of the above
parameters, biasing is stabilized ?

(a) 1 only

(b) 1 and 2 only

(¢} 2 and 3 only

"(d) 1,2and3

51.

If the differential voltage gain and the

.common mode voltage gain of a differ-

ential amplifier are 48dB and 2dB
respectively, then what is the value of
CMRR ?

- (a) 23 dB

(b) 24 dB

(c) 46 dB S

{d) 50 dB
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(a) 23 dB

(b) 24 dB
(c) 46 dB
(d) 50 dB
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52.

53.

19K

5K

In the circuit shown in the above figure,
what are the values of the ‘quiescent
collector current (Ie) and collector-

emitter voltage (Veg)? (Neglect the.

effect of base current and assume large
B and Vp = 05 V)

(a) 1mA__and9V
() 2mA and 6V
() 25mA and 45V
(d) 4mA and 0V

Match List T with List IT and select the
correct answer using the code given
below the Lists : )

List II

List I
(BJT (Expression
Configuration) . for voltage
amplification)
. Rc
A. Common emitter - |, —=—C
. R,
B. Common emitter 2. (-8nR.)
with R, ,
3. .R_C.
C. Common base - R,:
D. Common collector  4- (+ngc)
5 _8mRe
1+g,R,

P-DTQ-J-FFO - A
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54.

() Gain=1000, f, =100 Hz,

55.

Code :

@ 2 4 .1 5

b)) 3 4 1 2
) 2 1 4 5

@ 3 1 4 2
In a single stage amplifier with a gain of
1000, f; =100 kg, Sy =10 khz, 10% of
the output signal is negatively fedback
to the input. What are the approximate

parameter values of the resulting feed-
back amplifier 7.

(@} Gain= 10, fo.=1Hz, fr,=1 MHz

®) Gain=10, f, = 100.Hz, f,, = 1 MH

3

£y=10 MH;
(d) Gain= 10, Jfi=1Hz, fy=1kHz

Which one of the following statements -
is correct 7 -

In a normalized Chebyshev low-pass
filter, the dc response '

(a) s always unity
(b)
©

is always less than unity

may be unity ‘or less than unity
depending upon whether the order
of the filter is odd or even, respec-
tively ' '

(d) may be unity or less than unity
depending upon whether the order
of the filter is even or odd, respec-
tively .




2 1 4 5

301 42

54, @ A T qaes A, G el
1000, £, = 100 kz, fr= 10 khe &, Rl
T 10% R R e g
Vgg = 05 V T3 4R a7 & 3T ¥ | ot g g & Afiree g
Ak - ! K
@ ImAdROV o |
(b)) 2mA ¥R6V
(© 25mA 945V
@ 4madROV () = 1000, £, = 100 Hy,

' ' fu=10MH
s B 1Y e ff dk i | z
- i E A g s A R (@) FR=10, f=1He, fy=1kHz

mgﬁm ‘ ! ' :
Tﬁ’l !ﬁ'TII" ' 5. ﬁmﬁlﬁﬁﬁﬁﬁ'«rm@mv@%?
(grfemmm) . (@ gl N e o e, de
- Ry e
fortr =) ‘
. (a) BMTERAR
A HWH TS 1=
(b) N U & W A &

B, AT s ,

R, ¥ U™ () T IR T & & w g, R
: ' & & o e &7 5 g faew
C. HTI AT ' ' tqrew e

| (ﬂ) a'@-=lO,fL=1HZ,fl.1=]MHZ

(b) @R=10, f*= 100 Hy, fyy=1MHz .

D. ¥ T ll (@) TG § @ ar g, ol
- o & o e R
a foww 2

" A - P-DTQ-J-FFO




56. Consider the following statements :

57.

P-DTQ-J-FFO - A

- B o=

The quartz crystals used in bsgillators ]

have . .
1. a high value of Q.

2. stable characteristics with respect to
time and temperature variation.

3. two resonant frequencies, viz.,
series and parallel.

Which of thése.statcments are coﬁect ?
(a) 1 and 2 onlry

(b) 1 and 3 only '

(¢) 2 and 3 only

(d 1,2and 3

Ao

Which of the féllowing can be used

~as a replacement for the logic circuit

shown above ?

(a) . Zero NAND or NOR gate.
_(b)' Single ‘NOR gate

(c) Single NAND gate

(d) One NAND gate and one NOR
gate ’

24

1

58.

59.

60.

Which one of the following is equi-
valent' to the Boolean expression

Y=AB+BC+CA?

(a) Y=CA

(b) Y=BC+CA
(©) Yzz_BfBE‘
(d) Y=AB+CA

Consider the following logic families :
1. TTL
2. ECL
3. CMOS

Arrange them in order of decreasing
power dissipation '

(a) 3,21
Mb) 1,3, 2
() 1,2,3
d .2, 1,3
Tt_lot'used
g5 — 4, Cs
% —~ 4,
85 8y f——>
@ > 43 S:-——F ‘é
__I::B P S—
2

. » By

0 .
- 2, o

What is_ihe output of the code converter
constructed using a 4 bit full-adder MSI
circuit as shown in the above figure ?

(a) 2-4-2-1 code
(b) "Excess-3 code
(¢) Biquinary code
(d) EBCDIC code
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61 Which one of the following statements . 64 Which one of the followmg cm:ults 15
is correct ? " a sample and hold circuit ?

A three input multiplexer will require 7 R .

(a) A minimum of two sélect lines
and one output line

(b) One select line and one output
line

I
(c) Three select lines and one output
line

(d) Two select . Imes and two output
lines

. Consider the following statements :

Sequential circuits
1. have some memory.
2. have at least one feedback path.

3. give outputs depending only on the
past inputs.

4. exhibit &yclic nature.

Which .of the above statements are
correct ?

{(a) 1,2and 3
(b) 1,2and 4
(c) 1,3 and 4
(d) 2,3 and 4

- Which one of 'the following statements
is ‘not correct ? _

- Eight memory chips of size 64 x 8 bits
have their address buses connected

_ together. What will be the size of the
(b) A decade (mod-10) counter can be resultant memory ? '

constructed by cascading a mod-5 . _
counter and a mod-2 _counter (a) 64 x 64 bits

_ «(a) For a divide by 83 ripple counter
we need 7 flip-flops

{c) A 3-bit synchronous down counter
can be converted into 3-bit, syn-
chronous up counter

(b) 128 x 32 bits

. (c) 256 x 16 bits
(d) A synchronous decade counter can '
be constructed by using flip-flops (d) 512 x 8 bits

P-DTQ-J-FFO - A
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66. Arrange the following.ADCs in terms of

67.

their speed (highest to lowest)
1. Dual slope
2. Counting

by d

‘3. Successive approximation
4. Parallel comparator
Code :
(@ 1-2-3-4
b)) 2-1-3-4
) 1-2-4-13

d) 4-3-2-1

What is the combination of quantiser

and encoder in a PCM commumcanon
system called ?

(a) Code converter

(b) Analog-to-digital converter

(¢} Compander

(d) Digital-to-analog converter

LACY
P
o—p

(208

In the QPSK modulator as shown above,

what do the blocks 1, 2 and 3 represent ?

(a) Serial to parallel converter, cos m, ¢
and 90° phase lead '

() Serial to parallel converter, sin w,!
and 90° phase lead

(¢) Serial to parallel'converter, sin @, !
and 90° phase lag

(.d).' Parallel to serial converter, sin @, 7
and 90° phase lag

P-DTQ-J-FFO - A

69.

70.

71.

72.

~To produce

A total of n messages, each band -
limited to B, are time division multi-
plexed using PAM. What will be the
minimum bandwidth of the multiplexed
signal ?

(a) B

(b) 2B

(c) nB

(d) 2nB

In colour TV transmission in Ihdia, what

is the frequency of the chrominance
signal ?

(a) 3-58 MHz

(b) 5 MHz

{c) 65 MHz

(d) 7-16 MHz

A source generates four symbols with

equal probabilities. What is the entropy
of this source ?

(a) 4-0 bits/symbol
(bj 2-0 bits/symbol
(c) 1-0 bits/symbol
(d) 0-25 bits/symbol

enls) FM SIGNAL

frequency modulation
through phase modulation, the modu-
lating signal e, (r) is passed through -
block 1 and block 2 as shown above.
What do these 2 blocks represent ?

(a) Phase modulator and differentiator

(b) Phase modulator .and integrator

E (c) Infegrator and phase modulator

(d) Differentiator and phase modulator
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69.
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(a) B
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73. A message

74.

73,

produces ﬁﬁe
symbols with probabilities of occurrence

source

1.4 4 & and L respectively. What "

is the value of entropy of source ?
(a) 0-5 bits/symbol

(b) 1-025 bits/symbol

(c) 1-875 bits/symbol

(dy 2375 bitslsymbol

In a TV system, there are 525 lines pér A

frame and the picture rate is 30/sec.
What is the value of sync frequency 7

@) 30 pulses/sec

(b) 525 pulses/sec
(c) 1555 pulses/sec-
(d) 15750 pulses/sec

Match List T with List II and select the:

correct answer using the code given
below the Lists : «

List I ; List [I )
- {Target) (RCS)
A. Bird 1. 0 dB m?
B. Small zircraft 2. 10 dB m2
C. Fighter Bomber 3. 30 dB m?
D. Tanker ' "4. 300 dB m?
5. -30 dB m?
Code :
A B C D
@ 3 2 1 4
® 5 2 1 3
.(c)_ 301 2 4
@ s 1 2 3

P-DTQ-.'I;FFO - A .

76.

77.

78.

Which one of the following is correct ?

A bmary number with n digits all of
which are unity has the value

(a) 2"

() 27!

©) ‘2"—1 X
@ 20D-1

What is the addressing mode used in
the instruction PUSH B ?

(a) Direct .
(b) Register-
(c) Register indirect '
(d) Immediate

Which one.of the following stafements
is correct ? :

- A microcontroller differs from a micro-

79.

processor in that it has

(a) Both on-chip memory and on- chlp :
ports '

(b) Only on-chip- memory but not
on-chip ports i

(c) Only On-Chlp ports but not on-chip
memory o
(d) Neither Oﬂ-Chlp memory nor

" on-chip ports

Which one of the following statements
is correct ?

In comparison with static RAM memory,

the dynamic RAM memory has _

(a) lower bit density and higher power
consumption

(b) higher bit density and hxgher power
consumption

{c) - lower bit density and lower power

consumption

(d) higher bit density and lower power
consumption -




73.

74,

Q’aﬁﬁaraﬁﬁﬁgﬁ\aﬁaﬁmr

L 11
?ﬁa;;laﬁ?r'ﬁq—m‘fawmw%?
(a). 0-5 Foreq /vt

(b) 1025 faew/wdi®

(c) 1875 foem /aeits

(d) 2:375 f=r2g /udte

TH TV & # 525 a5 gf $w S o
T 30/sec ® | TOFH AT HT A

TR

(a) 30 Pl?i'i'/se;c
(b) 525 T&/sec

(¢) 1555 €78 /sec

(d) 15750 T/ sec

75.

g1 W g O i i sk
'W%ﬁﬁﬂ%mmﬁa@
o g
a1 ﬁ?ﬁn
- (FEm) ‘ {RCS)
A. TE 1. 0 dB. m?
B. &Y aga= 2. 10 dB m?
C.9gF FHa¥s® - . 3. 30 dB m?
D. & 4. 300 dB m?
. 5. =30 dB m?
A B C D
(@ 3 -2 1 4
b 5 2 1 3
() 3 i 2 4
5 1 2 3 '

(d)

L &R L & wifieT & Iera

31

76.

77.

@ n ot & g st de @, s
TN JF U &, A qar g 7

(a)
(b)
(c)
(d)

T PUSH B & #weft e frem

2R

.2!1‘-!

2!1 _ 1
2(.'1—1) -1

- 9eh e R 7

78.

(a) A
ORE
(c) GSIT Sgeqe
(d) smEw

Frefafea ¥ 2 o Fa7 7 &7

& gew s uE gew e | i @
(@ oo o gy ok fag wogr 3t €
(b) T R Faw Fft 2 foeg BT WER
(©) ¥ faa o g € forg o o) wgfr

“(d) mﬁﬁww%ﬁmﬁ%w

79.

FAL]
fafafaa ¥ s s suT agr & 7
difw RAM wf 1 g #, "R
RAM &fJ '
(a) AR fae a9 i Iae Al @ud

@ ¥
(b) I fire v oK IR At @ua

TEat &

(¢) IR R gt ok ~ra ufts

d @l 8 .

(d) ST fae T o AgAa s |ud

Rk i

" A - P-DTQ-J-FFO




30 Which one of the following statements -

is correct ?

“With a clock frequency of 3MHz, the
execution time for the instruction “STA
addr” of 8085 will be

(a) 4333 ns
(b) 3975 ns .
(c) 3115 ns
) 3960 ns

Which one of the fo]lowing staterhents
is comect? '

A microprocessor program written in
assembly language is translated into

machine language. The number of
instructions in the machine language

when compared with the number of
instructions in assembly language is

(a) More only
(b) Same
(c) Less only

(d) Either more or less.

. Consider the following :

The 16 bit régr‘ster!réglster-palr which
cannot be stored in stack usmg PUSH
mstructmn is

| “1. HL
2. SP
3. PSW
4. PC .

Select the correct answer using the
code given below :

(@ . and 2
(b) 1 and 3
(¢c) 2and3
(d) 2and 4

-

P-DTQ-}-FFO - A

83. Which one of the followmg statements
is correct ?

The 1/0 Method used in a mxcro-
cont:rol]er is

(a) Hand shaking
(b) Interrupting

(&) Direct Memory Access

- {d) Al three of the above

. Which one of the following statements
is correct ?

Temperature coefficient of a thermistor
is

(a) High and negative
(b) High and positive
.{c) Low and negative

(ci) Low and positive

. Consider the following :

Measurement of currents of mote than
10 A requires

L CT
2. PT
-3, Attenu;tor
4. Hall effect probe

Select the correct answer using the
code given below :

(a) 1 only
(b) l.or4
(¢c) 2or3
(d) 3o0r4d




80. 8085 ¥ A “STA addr” ¥ ford srgarer

FTe FT TN, ST1% Feld SFRT 3 MHz
g7 -
(a) 4333 ns
(b) 3975 ns
- (o) -3115 ns*
- (d) :"»96_0 ns

81.@%;&#@?@?%@@3?%@
- W 9T §osuwaRa fEr ST g

welte STt A Rt Y FeAT e

ST % SR Y g

(@) Fae arfers @

‘(b) AN

(o) FAAFAE

(d) arar fae ar e &

.+ 82. Rt v fe A«

16 forz sif¥rerelt /sfirert qmer v e8

¥ PUSH a@rﬁmmmﬁaﬁ
FGHEA €, 8

1. HL

2. SP

3. PSW -

4. PC | |
¥ 2 7 57w w@N W R W
(a) 132
(E) 13T 3
© 23T3
(d) 2 a4 -

83.

84

frmfafas & *9 @ 1/0 i zia:;x
_ﬁﬁmﬁm@?ﬁ%?

@ b

(b) TREAF

(c) W&TF{%W&I‘T‘I’.

@ e i A

. Frerfefem ¥ 1 o o &7 '

 arfifeet a1 AT e

(a) I HR HNHF ¢
(b) = R gATHE €
(c) T 3R = @

() R wmE R

85.

fFrefafas w faae $ifSe .

10 A & aifer & g & amq & o
I CT &1 s &t & | |
2. PT &Y arersassar &t & |
3. et B s A 2 |

4. BT IHIT UNUIT T FTavEHar giat
2| -

M R T Fz & 9T & HE W
3T -

(a)aﬁﬂl

(by 1374

© 2773

L) 3aM4

‘A - P-DTQ-J-FFO




86. A thermocouple ammeter gives full
scale deflection for a current of 10 amp.
When it reads one fourth of the . scale,
then what is the current through the
meter ? ' '

@ 50 A
) 40 A
© 37A
@ 25A
87. Match List I with List II and select the

correct answer using the code given
below the Lists : '

List I ~ List IT
{Transducer) (Appropriate
signal
Conditioner)
A.LVDT ° 1. Analog amplifier
B. Strain 2. Phase-sensitive
gauge detector
* C. Tacho 3. Logarithmic -
generator amplifier
D. Phase 4. In.strumentatic)n
meter amplifier
5. Zero-crossing
detector
Code :
s - .
A B C D
(a 2 4 i 5
b) 2 4 3 5

© 3 1 4 2

@ 5 1 .4 3

P-DTQ-J-EFO - A
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88. Which.one of the following statements
. 1 not correct ?

(a) Correctness in measurement re-
quires both accuracy and precision

(b) Reproducibility and consisteﬁcy are
: expressions that best describe
precision in measurements

(c) It is not possible to have precise
measurements which are not
accurate -

(d) An instrument with- 2% accuracy
is_better than another with 5%
accuracy '

' 89. What is the power factor of an ‘a.c'. 3

circuit under resonance ?
« (a) unity '
(b) 0-8 leading
(c) " 0-5 leading
(d) 0-5 lagging -
90. Match List I with List IT and select the

correct answer using the code given'
below the Lists : :

. List I List IT

(Bridges) (Measurements)
A. Maxwell 1. Frequency
B. Hay 2. Capacitance
C. Shearing 3. High ‘Q’ coil
D. Wien 4. Inductance
Code :

A B C D

(@ 4 3 2 1

® 1 3 2 4

(). 4 2 3 1

@ 1 2 3 4




86. T AT 4594 g UHIEX 10 amp HTRT T

qof AT fasty 3T @ | #ied & 9y gare @
& v SO 95T W T O =S @ 7

(a) 50 A

87.

gieat & 9 fig U 2 &1 5@ ) aE
L gfa .
- ﬁj&l gt 11
(arrate) _(FE=
. . )
" ALLVDT 1.@?1"@193&1'% _
B.ﬁg?%smﬁ 2. &1 gAY
C. 3T - -
' | 3. @Y o
- D. ST T AT c

(b)- 40 A
(¢) 37A

(d) 25 A

@Iaﬁ@uﬁgﬁrﬁaaﬁﬁqﬁt

4, AIEAT gets

5. ST IR
: SN
%
A B C D
@ 2 4 1 5
® 2 4 3 5
©

W
B -
o

d 5 1 4 3

35

89,

. 88. A4 ford oAl § 1 TF adY Agr 2 7

(a) AT9F ¥ Ayga & oy wgrdar ok

- afcyggaT AT ¥ srravasRar 2y @

(b) qeETTErET AR gl wfeafeat &
S AE A q&alamaﬁaﬁﬁaw.
Ffofg &t € .

(¢) afypg wTeA wnE Ad & S aurd

d) 2% TAHAT W AMET TW 5%
AT &F ATIEE ¥ st ¥

qma.c.q&wa:raﬁm‘da:mﬁ#aﬁ

) 08 W

90.

(c) 053

(d 05 9

T B g 01 ¥ g R ok

g & A fg T e i R A
wgﬁq:
gar 1 Tt 11
(¥9) (wTam)
A. e . smafy
B.¥ 2. gif@r
C. o 3. 99 Q' el
D. #F 4. IHA
FRE: -
A B C D s
(a) 4 3 2 1
Sy 13 2 4
) 4 2 3 1.
@ 1 2 3 4

A - P-DTQ-J-FFO




91

92,

93.

The A to D converter used in digital ,

instruments could be :
1. successive approximation converter
type -
2. flash converter type:
3. dual slope converter type

What is the correct sequence of the

increasing .order of conversion time
taken by these types?

(& 1-2-3
b) 2-1-3
© 2-3-1
d 1-3-2
Which one -of the followmg statements

is correct ?

In distortion factor meter, a filter is used
to suppress 7

(a) d.c. component

(b) odd hormonics

(c) even hormonics

(d) fundamental frequency componem

Which of the following -units are present
in a spectrum analyzer ?

1. Mixer

2. Saw-tooth generator

3. Local oscillator
Select the correct answer using the
code given below :
{a) 1 only

“(b) 1 and 3 only

94.

(¢) 2 and 3 only
(d) 1,2and3

What does the Qertical fine between

open circuit characteristics and zero

power factor characteristics of a syn-

chronous generator represent ? -

(a) voltage drop due to synchronous
reactance at rated current

(b) voltage drop due to leakage react-
ance at rated current

(c) induced voltage in armature due to
resultant flux

(d) induced voltage in armature due to
field flux alone

P-DTQ-J-FFO — A

95.

96.

* C. Permanent

The industry-load on a three-phase’ .
2200-volts supply line is 1200 kW at a
lagging power-factor of (-6.

In order to raise the line power-factor to
unity (neglecting all the losses), what
is the kVA ratmg of a synchronous
condenser installed in parallel with the
load and, the kVA rating of an alternator
required to supply the new total load ?
(a) 800 kVA and 800 kVA respectively
(b) 1000 kVA and 800 kVA respec-
" tively

{c) 1200 kVA and 1000 kVA respec-

tively

(d) 1600 kVA and 1200 kVA respec-
- tively

‘Match List [ with List T and select the

correct answer using the code given
below the Lists :

List T List II
(Motor) - (Charactetistics)
A. Capacitor start 1. Low starting
induction”motor torque
- B. Capacitor start— 9 High starting
capacitor run torque

induction motor .
i 3. High starting

torque, better

capacitor motor :
power factor, -

D. Shaded pole

. better _
motog efficiency
4. Inherently
"~ self starting
but very
small starting
torque
- Code :
A B C D
(a 4 1 3 2
®d 2 3 1 4
(c) 4 3 1 2
@ 2. 1 3 4




91.

92.

93.

'_Fﬁ%ﬁﬁﬂirfaaﬂg!ﬂﬂaﬂag"raﬁ'{.

s ATt § ygee A/D afafiT .

1. IR Afsweq afafdT gaw srar

- T '
2, ¥ afafds g &7 & Hehar 2 |
3. fg gaumT giafty g F1 8 a@ar
i
=T SR ¥ g for Y ST § Y &
A 9 W aE sgE T g !
(@ 1-2-3
®) 2-1-3"
() 2-3-1
@ 1-3-2

ﬁm‘%ﬁmﬂaﬁawwa@%?

‘ﬁﬁwﬁaﬁﬁmﬁmm

(a) dc. 909 & AwA F forr = €
(b) Torem gaaTEl & fAQua s foly e &

(¢) a9 gEaEmE & e & ol A= §

(d) 7= ¥gfa & e & ol o €
A favows § frafafea § a9 @
gfe foemm g & 7

1. T

2. RTEAT A,

3. wgTie® Qfe

) 1,2 @R 3
94,

W%mwﬁﬁﬁqmw&wwﬁmmﬁ
iRy ufts U s & siw §
Seater e Far fAefg st 8 7

(a) Fruffer orr w Jefors gfema &

FRUT Fieear 9
(b) fraffe amr o sor gfeEma & Fr
qreadT Td

(© a{ﬁ?tﬁt{ﬁ:ﬂﬂtﬁqﬂwé?w?rﬁ—cr

Treedl

'(d) wﬁtﬁwaﬂmﬁw

afa qieedr

K r AN

95.

96.

ﬁwzzwﬁamwwmw
0-6 TR WRF O 9L 1200 kW € |

a7 Tfeh [T T SET I U B 6 ford

(@ T ST Y @), IR F
- gETR faediee & o |/enfe =

kVA Frafor st g7 @ TR F am &
o srevasw yamafd &1 kvA Fatoor
TR 7

(a) ST 800 kVA 3T 800 kVA

(b) FHST: 1000 kVA 3T 800 kVA

(c) SFH: 1200 kVA 3R 1000 kVA

(d) T 1600 kVA A 1200 kVA
=t 1 F gEr 10 & gafaa fifew ek
gl F 9 fiw U e F1 99 K ag
il il
. (wrER) (arfirareroD)
A. Gfer ggd 1. &=t gadw
90T HieX e el
B.#HT&?HHE&F 2. I uFaqT
ST Hie 3. 37 gadq I
C. =T surfox a'ga'(aﬁ%ﬁ
e W'm
D. ifca ya diex <&

4. srafifem =t
gadT Ry
stferery wadw
St et

%< ;

-~ A B C D
@ 4 1 3 2
b 2 3 | 4
€ 4 3 1 2
@ 2 1 3 4

A - P-DTQ-J-FFO
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97. If under normal saturated condition in a

98.

99.

(c)

power transformer, the third harmonic is
30% of the fundamental, the fifth is 15%
and the seventh is 5%, what is the r.m.s.
value of the exciting current ?

(a) 1-0225
(b) 1-0600
1-1150

(d) 1-5000

¢

Usually, for a 3-phase transformer (core

type) to be used with star-8tar connec-
tion, two unwounded additional limbs
are provided to shunt the outer limbs.
What purpose does it serve ?

(a) Provides better cooling
(b) Provides path to 3rd harmonic flux
(c) Causes uniformr flux distribution .

(d) Reduces magnetizing current

= One Pole Pitch ——»
B A .

B R R L T 3 S
]
1
1 .
I
o —re—— —-'b:
1

L 4

The figure as shown above represents

the sinusoidal flux-density distribution
in the air-gap of a d.c. machine.

If I = the axial length of the armature,

r =the radius of the armature, and
P=the number of po]es in the
machine, .

Then, what is the total flux per po]e o,
in terms of the peak flux-density Bloai?

P-DTQ-J-FFO -~ A

38

106.

101,

- ¥'=230/2 Sin of

-

2
(a) ‘F Bpeakr'l

4
(b) _P" Bpeakr'l

2

(c) ?Bpeakr'l
4r
(d) ? peakr'l

Consider the following statements for an
induction motor :

1. Crawling occurs due to both
harmonic induction torques and
harmonic synchronous torques.

2. Cogging occurs due to harmonic
synchronous torques only.

3. Skewing of rotor slots increases
rotor resistance but reduces noise.

Select the cormect answer using the
code given below : :

(@) 1,2and 3
(b) 3 only
(c) 1 and 2 only

(d) 2 and 3 only

a=n/4

R=10 02
The triac circuit shown in the above
figure controls the a.c. output power to

the resistive load. What is the peak
power dissipation in the load ?°

(a) 10580 W
(b) 7935 W
{€) 5290 W
(d) 3968 W




97. af TR G99 =T A T wifes aftonfis
¥ dredt @Y e Y 30%, o 15%
' ﬁﬂﬁﬁS%%,EﬁBﬁWWWLm.s
A ATe? '
(a) 1-0225
(b) 1-0600
(¢) 1-1150

(d) 1-5000

98, wrTTTAT, Fi-gen wfonfe (FE)
m-maﬁm%ma@vwﬁﬁ,
3 afaRes swgefor saas sl ssoa =t

mﬁmw#%ﬁ@%%lmm_

St g dar g ?

(a) NG =T WFT AT

(b) TT TR FAHT BT T IS FAT
. (¢) " Foed faaRer AT

. (d) Wmﬁmm
99, |

BJ\

L 4
Q2 le—

ot T

R fa@mr qar o= dee. w1 ag

mﬁwﬁamwﬁwﬁ
. frefia war @

afg I = smfR Y ssfiy @, -

ot = 3= & e, Wi

o Foa gfo g7 ¢, e s ava

100.

2

4 .
(b) — Bgyer ! .

2n

©) 5 Bargerd

(d) EE Bﬁr;:atr {

o MR & o et m:m’r T
e i :

1. famor, gt o g@ smgef sk
FAIET JETE Fe Aqrgof AT F
HIT0T BT 2 | |

2. Sqfkd, Faer qeEl qESifaw oo
smef 3T & Teor dar #

3, Ui TET FT &EIT ol afery &
TEIAT & IReg & H Tera g |

A e @ g2 1 TE W S
Tf :

. (a) 12&ﬁt3,.

101.

(b) =t 3
(c) FaeT1 3 2 |
(d) FaeT2 oMK 3 ' '

- <
>
a=m/4
¥ =230/2 Sin wr

§R=IOQ
l

R fegmd 1 K= 7z aforr gt
TR % a.c. fFfa afte & Fafa s@r g
TR H Rrex s g Far & 7 .
(a) 10580 W

(b) 7935 W

(c) 5290 W

(d) 3968 W

n
+
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2.
-

0' n 2r 3 w!

A MOSFET rated for 15 A, carries a
periodic current as shown in the above
figure. The ON state resistance of
the MOSFET is 0-15 ohm. What is the
average ON state loss in the MOSFET ?

@ 375 W
® 75W
© 150W
(@ 300W

In the single phase diode bridge rectifier

 as shown in the above figure, the load

resistor R = 50 ohms. The source voltage
V =200 ssin wt, where @ = 2m % S0radians
per second. What is the power dissipated
in the load resistor ?

3200
@ == w
/4

. 400
by W

T
() 400 W
(d) 800 W

P-DTQ-J-FFO - A

T,

A voltage commutation circuit is shown
in the above figure. The turn off time of
the SCRs is 50 micro-second. A safety
margin of 2 is to be incorporated. What
will be the minimum value of capacitor
to be provided for proper commutation ?

(a) 2-88 ‘uF

®) 1-44 ptF-

(¢) 091 uF

@ 072 uF

. A three phase semiconverter feeds the

armature of a separately excited d.c.
motor supplying a non-zero torque. For
steady state operation, the motor
armature current is found to drop to zero
at certain instances of time. At such

instances the voltage assumes-a value-

that is

(a) equal to the instantaneous value of
-the a.c. phase voltage

(b) Equal to the instantaneous value of
the motor back e.m.f.

arbitrary

Zero




102

103,

104

\l
Y
>

wi

0' is 2
15 A 3 ford fufid MOSFET & 371 &
o ¥ forrd i SR amgfe s AT

i

3t & | MOSFET &1 o raedr Jfadtd

0-15 ohm &1 MOSEET ¥ sigd e
e g g 7 -
(2 375 W

by 7:5W
c) 150W

d) 300 W

(
(
(

104.

0or|

500

i 7 i o e e oo
framar T 4 SCR & fod v &
50 T dwe ¥ 2 W OgE E
vt & ) & | 3R e

- for wnfr & T AWFT R

105

w-Fa eae A feesd #, dwr

& aw & fo o fogmn o 8, W
HGUBED R.= 50 ohms & BT adreear
V =200 sin o 8, el @ = 27 x 50
oy e | R afeRR s e iR ?

41

A .

(a) 2:88 ul -

(b) 144 uF

(c) 091 pf

(d) 072 uF
.W:a%rﬁﬁ;j.c.,ﬂa%mﬁﬂaﬂ,qa
f-aar aefrfafef § T g ], W
IR & T e A ¢ | e
=T & for - forit ffvaa ava

TR AT YT & Y 7% O A g
77 YR R Fveedl FT AT | 1

(2) ac, Areeal & ARefiE 7 & aER

(b)) W F T e, F Al AW F

ENELS

e

@ ¥

A - P-DTQ-J-FFO




106.

107.

108.

109.

P-DTQ-J-FFO - A

Jinsulators

L]
In which type of motor Rhestatic
dynamic braking is very effective ?

(a) Cumulatively

compounded = DC
motor |

(b) DC series motor

{¢) DC shunt motor

(d) Separately excited dc motor '

What are the advantages of oil-filled
cables ?

(@)

No ionization, oxidation and forma-
tion of voids

(b} Possibility of increased temperature
range in service

(cj Higher  maximum  permissible
stresses '

(d) Al of the above

- O @x; —oos©
1 O+3F |
Xgo=0:1 A\ﬁ :

Kip=10-15

o

ng= 02

For the power system network shown
above, the zero-sequence reactances in
p-u. are indicated. What is the zero-
sequence driving point reactance of bus
3 in pu. ?

(@) 012

(b) 030

) 010

d) 020

There are 20 discs in the string of
of a 3-phase, 400 "kV
transmission line. String efficiency is

80%. What is the value of the maximum
voltage across any disc ?

42

110.

(a)

16 kV

(by 25kV

(€} f3x25 kV

D v ;

(d)
What is the primary consideration n .
deciding the conductor size of EHV
lines 7

© (a)  Voltage drop

111.

112,

113,

(b) Current density
(¢) Corona )

(d) Voltage drop and current density

Which two items are connected by a
tie line ?

(a) Two power stations
(b) Power station and load centre
(c) Two generators

(d) Systems in two areas

Which of the following relays is used for
the protection of a series compensated
EHV line ?

(a)
¢s))
(c)
(@)

Impedance relay
Reactance relay
Mho relay

Static distance relay/Microproces-
sor based relay

What is the order of the reactive power
consumed by an HVDC converter ?

(a) Equal to real power

(b) Equal to 25% of real power
(c) Equal to 50% of real power
(d) Equal to 75% of ;'e_al power




106, 5 SaR & A ¥ feed i

FEGT TG TR § 7
zﬁvmﬁvsrncq‘m

(b)- DC it /X

¢) DC TRdTT HeX

(d) mﬂ:eﬁﬁadcqﬁa :

107, 3 o e o

(@) 16kV -
(b) 25 kV

fxzs kv

25
k
N

(d) \4

" 110, EHV W & ¥ % 99R & R

@ W s, S

o= 7 &
(b) A  affq ay iR & e
(©) TR e g st
(@) 3wl |

108. o
X’ =005®

ﬁeﬁ%%%——{—@ﬁ

Ym0t AT Keo®02
K= 015

R foa ot & ifeh 1 ot o ford,
pu. ¥ Y ¥EW afeT Ht qufar wr

21 pu ¥ 9 3 F Y 4 Ry
PR

(@) 012
(b) 0:30
(© 010

@ 020

109. 3371, 400 kV FT 1 3 fieerers ot

it 20 for # (e itz 809 31

feratt sft foeh R arfiimrew e A R 7
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Directions :

Each of the next Seven (07) items consists of
two statements, one labelled as the ‘Assertion
(A) and the other as ‘Reason (R)’. You are to
examine these two statements carefully and
select the answers to these items using the

codes given below :
Codes :-
@
and R is

of A

(b)

Both A and R are individually true

the correct explanation

Both' A and R are individually true

but R is not the cormrect explanation

of A
(c)
_ )]

' 114.

A is faise

“Assertion (A) :

’

(R) :

Reason

115. Assertion (A) :

Reason

“(R):

116. Assertion{A)

-domain

A is true but R is false

but R is true

All  the ferroelectric
materials are piezoelec-
tric materials also but
the reverse statement is
not true.

Ferro electricity is inde-
pendent of temperature.

Soft magnetic. materials .

are used in the fabrica-
tion of permanent mag-
nets and hard magnetic
materials are used in
electromagnets.. '

In soft magnetic mate-
rials domain movement
is easy, where as in
hard magnetic materials

~ Imovement is
difficult.

: Lag compensation makes

" the closed loop éystem

Reason (R)

P-DTQ-J-FFO - A

more sluggish.

: Lag . compensation de-

creases the gain cross
over frequency and the
bandwidth.

- 118. Assertion (A)

4

117. Assertion (A) :

Reason

Reason

119. Assertion (A)

Reason

R):

-of

. . /
Different signals . can
have same Z-transform.

Z-transform of a signal
is unique only if ‘Region .
convergence’  in.
Z-plane is specified.

: The bridge is said to be

balanced, when the gal-

- vanometer shows - zero

(R) :

®R) :

120. Assertion (A) :

Reason

R):

reading.

The potential difference
across the galvanometer
1s ‘0’ volt, therefore, no
current-flows  through
the galvanometer. '

:In an electromechani-

cal energy conversion
device (such as genera-
tors and motors) the
coupling magnetic field
between the stator and
the rotor must react with
the electrical or the
mechanical system.

If the output is electrical,
the  coupling afield
absorbs energy from the
electrical " system and
delivers to the' mechani-
cal system. '

MOSFETs have larger
power handling capa-
bility in linear applica-
tions. '

This can be attributed to
their excellent thermal
stability due to their
positive temperature co-
efficient.
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Note : English version of the instructions is printed on the fronf cover of this Booklet.




